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SRR | TR | Brmmman| BARRRR| BATORAR| BATHERR = e [BEBEE] BE [BEES TS T | Bt 2| B Vax | i e
m/s m/s m/s MJ hPa % % %
1:00[FER REd 1.6[FE 0 0 0 0 0 1011.7 55
2:00[3| Bl 24|FdbEs 0 0 0 0 0 1011.3 55.3
3:00(FE a7 JtdbE 26|78 0 0 0 0 0 1010.7 55.6
4:00[ 7L B[] 5.9|FadLFE 0 0 0 0 0 1010.1 55.8
5:00|Fa 4L 76 [i] 3.7|@ 0 0 0 0 0 1010.1 56
6:00|FE 7 [i] 2.1|Fded 0 0 0 0 0 56.3
7:00 | E[4 2.2| R 0 0 0 0 0 1010.3 56.7
8:00[mIE ER 1.6|FE 0 0 0.6 0.6 0.32 1010.7 57
9:00[ k7 1L 2.8[1L 7 0 0 1 1.6 1.01 1010.4 57.1
10:00[ 7L FadLis 8.4|F L 0 0 0.6 2.1 1.21 1010.1 57
11:00[ 7L FadLis 9.2|FdLFE 0 0 1 3.1 2.01 1009.4 56.8
12:00[ 7L FadL i 8.7|F it 0 0 0.7 3.8 1.74 1008.4 56.5
13:00[ 7L [ i) 11.9[FI A 0 0 0.6 45 1.85 1007.7 56.1
14:00|FaJL 7 i A 11.4[753t 7 0 0 0.9 5.4 1.9 55.7
15:00[FF [ i) 9.8|FdLF 0 0 0.9 6.3 1.47 1006.6 55.3
16:00[ 7L [ i) 11.8[FILFA 0 0 0.8 7.1 0.93 1006.7 54.9
17:00[ 7L [ i) 10.8[F&L A 0 0 0.4 75 0.41 1006.9 54.6
18:00[ AL [ i) 6.5|FadLFE 0 0 0 75 0.02 1007.3 54.3
19:00|Fa L7 i 10.6[ 7L 0 0 0 75 0 1007.9 54
20:00[REIR FadLiE 7.7|#FdLFE 0 0 0 7.5 0 1008.5 53.9
21:00[JtFE Y 49[dt=E 0 0 0 75 0 1009.5 54.1
22:00(FA LA ElA:ic] 7.3|FdLFE 0 0 0 75 0 1010.2 54.2
23.00|F [ i) 8.6|Fadti 0 0 0 75 0 1010.3 54.4
24:00:00|FAR g 42|71 0 0 0 75 0 1010.4 54.6
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SEHEA | T RGR | sormmesmn | SARMRE| SATHHEAN e |BEAE| BE |BEAs HhSKE ERE
m/s m/s MJ hPa %
Eiy 1009.3 55.5
e [ i) FadL s 11.9[FIL A 1012.3 57.3
HCHF 12:56 8:16
xIE 1006.5 53.7
HEEF 19:33
BE 75 75 12.87
ELRSEEE (%)
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